IlepeueHb OCHOBHBIX JieTa/ied U y3/10B u3aenus JI1-2,0-01 JIucr 1

An-2,0-01
Br 2: 50w
200 mm
2:30 mun

5
»

YTBepxzjato
Hauansauk OTO

Komnnekrt 3UMMa

37

CornacoBaHo:
3aM. Haua/ibHuKa OTO Knéukun A.B.
WcnonnuTe/ib:
Nuxenep Axkosenkos 1N.K.

6Q 65..
N O
624u= 066
63gm= 067

By

72

Koszmos IT.A.
«__ » 20
32
! 35
P o a 5_6‘




IlepeyeHb OCHOBHBIX JieTa/ied U y3/10B usaenus J11-2,0-01 JIuct 2
II HaumeHoBaHue K II HaumeHoBaHue K II HaumeHoBaHue K
1 | CereBoii miHyp ¢ Buiko# 2x1,0 mm? 1 30 |[ogmumnuuk 609 RS 1 55 | Bonr M6x20 1
2 | TpyOka 3awuTHas 1 31 | KosbLo croniopHoe 13 HapyxHOE 1 56 |BuHT M6x17 1
3 |IInactvHa npuwxuMHas 1 32 | Koneco 3ybuaroe Z=36 1 57 |t L=47mm 1
4 | BuHT camopes 4x14 4 33 |I[Tapuk 4 1 58 |Illatiba cTormopHas 5 1
5 |ITonypyuka neBast 1 34 | Inmunpens L=70mm 1 59 | KposuureiiH B cbope
6 | BunT camopes 4x21 1 35 |Ilopgmmnuuk 6204RS 1 59.1 | KpoHIuTeliH 1
59.2 | BTynKa 1
7 | BunT camopes 4x16 4 36 | Kosbiio cToniopHoe 19 HapyxHOE 1 Kommiext 31Tla
8 | Kongencarop 0,22 uF 275V 1 37 | Kpsika pegykropa 1 60 | ITuck mambHbi 1
9 |Bemouarens FA2-5/2D 8A/250B 1 38 | KoxXyx HenmoAB>KHbBIN 1 61 | Buur cavopes 4x24 1
10 |Ilonypyuka npasas 1 39 |Bunr M5x67 4 62 | Bonr M5x16 1
11 |Bunar M4x14 4 40 |IIpyxuna 0,8x6x65 1 63 | Bonr M6x13 1
12 |T'posep 4 4 41 | KoxXyX MOJBHWKHBIN 1 64 | Bunr Mdx10 1
13 | Kpsllka kopryca 1 42 | Konblo cronopHoe 39 HapykHOe 1 65 |IaiiGa 4 3
14 | Ietka (6x11x21) 2 43 | dnaHey BHYTpeHHUU 1 66 | Taiika M5 1
15 |IIéTkoaepskarens B coope 44 | ®naHel BHEILIHUMN 1 67 |Taiika M6 1
15.1 |mpy>kuHa NjacTUHYATast 2 45 | Bosr M8x20 1
15.2 | Kopmyc LieTKoeprKareis 2 68 |Illerka (6x11x21) 2
46 |Illaiiba 8 1
16 | BuHT camopes 4x11 4 69 | Kombrjo nepexogHoe 25/32(BHyTp/Hapyx) | 1
47 | OcHoBaHue B cbope
17 | Kopmyc snekTpogBuraress 1 471 | ocHoBaHMe 1 70 | Kmrou 12 1
18 |Cratop 1 47.2 |ckoba 1 71 | CrpybuuHa B coope
19 | Mnadparma 1 47.3 |3aKsernka 2 71.1 |raiika baparek M10 2
p 47.4 | KpOHILUTEHH HWKHUH 1 71.2 |aiiba 10 2
20 |Mogmwmnuuk 6201RS 2 47.5 |3ak/enka 4 71.3 | ynop 2
21 | fIkopb 1 48 | 3axxum 60KoBOM M6X15 1 71.4 | cpybupma 2
22 |Bunr M4x10 6 49 | IMlaiiGa 6 3 72 |Komow crieniaL b 1
23 |IlnacTvHa MOAIIUTTHUKA 1 50 |KpoHuiTeiiH BepxHUii B cOope 73 | Orpaxaenue 1
24 |Usonsirop (mnactux) 1 50.1 | KpOHILLUTEeNH BepXHUU 1 74 | JluHelika 1
50.2 |mTudr 1
75 | PUKCATOp BBIK/IFOUATEIS 1
25 | ®naHel] 3/1eKTPOABUTaTeIst 1
51 |Pyxkostka M6x15 1
76 |IlaTpybOok 1
26 | BuHt camopes 4x40 4 N
52 | BuHr 3axumHou M6x17 2 o
27 | Konpuo cronopuoe 11 HapyxHOe 1 77 | PacKIMHMBAIOLIMA HOX 1
53 |IIpyxwuna 0,7x13x16,5 1 N
28 |BcraBka (1U1aCTHK) 1 78 | Koxyx saupTHLIi 1
54 | Taiika 3a)xuMHass M6 1
29 | Kopnyc pepykropa 1




